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a2

b2

2

cv 0.1
h]

40

trial_400
joop 500

var.e_((cviu)A2)/((3h)+1)
var.a (htvar.e)

var.b (hvar.e)

var.ab (htvar.e)

d.mLarray(,dim=c(1 loop))
md.mc_array(im=c(1 .loop))

newseta.mon _array(,dim=c(1,trial))
trmon_array(,dim=c(4,4, rial))
snewseta. on_array(,dim=c(4, trial))
y2.mon array(,dim=c(a,b,n))

y.mon array(,dim=c(a*o*n, Ltrial))

if(a==28b==28n==2)
{
al rep(c(1,0)4)
a2 rep(c(0,1)4)
aa c(ala?)
bl rep(c(1,0).2)
b2 rep(c(0,1)2)
bb_rep(c(bl,h2),2)
cl rep(c(2,0,00),2)
¢2_rep(c(0,1,0,0),2)
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¢3 rep(c(0,0,1,0),2)
¢4 rep(c(0,00,1),2)
ab c(cl,c2,c3,c4)

Jelse

fla==28h==281==3)

{

al rep(c(1,0),6)
a2 rep(c(0,1),6)
aa c(al,a2)

bl rep(c(1,0),3)
b2 rep(c(0,1),3)
bb rep(c(b1,02),2)
cl rep(c(1,0,0,0),3)
c2 1ep(c(0,1,0,0),3)
c3 1ep(c(0,0,1,0),3)
c4 rep(c(0,0,0,1),3)
ab c(cl,c2,c3,c4)

Jelse

fla==28==08n==1)

{

al rep(c(L,0)t8)
a2 rep(c(0,1),9)
aa c(al,a?)

bl rep(c(1,0),4)
b2_rep(c(0,1)4)
bb_rep(c(b1,62),2)
cl rep(c(1,0,0,0)4)
c2_rep(c(0,1,0,0),4)
¢3 rep(c(0,0,1,0).4)
c4 rep(c(0,00,1),4)
ab c(cl,c2,c3,c)

_—

Jelse
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fla==38b==38n==2)

{

al rep(c(1,0,0),6)

a2 rep(c(0,1,0),6)

a3 rep(c(0,0,1),6)

aa c(al,a2,:a3)

bl rep(c(2,0,0),2)

b2 rep(c(0,1,0),2)

b3 rep(c(0,0,1),2)

bb rep(c(bl,b2,03),3)

cl rep(c(1,0,0,0,0,0,0,0,0),2)
c2_rep(c(0,1,0,0,0,00,0,0),2)
c3 rep(c(0,0,1,0,0,0,0,0,0),2)
c4 rep(c(0,0,0,1,0,00,00),2)
¢5 rep(c(0,0,0,0,1,00,0,0),2)
¢6_rep(c(0,0,0,0,0,1,0,0,0),2)
¢/ rep(c(0,0,0,0,00,1,00),2)
c8 rep(c(0,0,0,0,000,, )2
¢9 rep(c(0,0,0,0,0,00,0.1),2)

ab c(c1,c2,c3,¢4,65,6,c7,c8,c9)

Jelse

fla==38b==34n==3)

{

al rep(c(1,0,0),9)

a2 rep(c(0,1,0),9)

a3 rep(c(0,0,1),9)

aa c(al,a2,a3)

bl rep(c(1,0,0),3)
b2_rep(c(0,1,0),3)

b3 rep(c(0,0,1),3)

bb rep(c(bl b2,03),3)

cl rep(c(1,0,0,0,0,00,0,0),3)
c2_rep(c(0,1,0,0,0,0,0,0,0),3)
¢3_rep(c(0,0,1,0,0,0,0,0,0),3)
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¢4 rep(c(0,0,0,1,00,000),3)
¢5 rep(c(0,0,0,0,1,0,0,0,0),3)
¢6 rep(c(0,0,0,0,0,1,0,0,0),3)
3)
3)
3

— A

c7_rep(c(0,0,0,0,0,0,1,0,0),
c8 rep(c(0,0.0,0,0,0,0,1,0),

¢9 rep(c(0,0,00,0,000.1),

ab ¢(c1,c2,c3,c4,c5,c6,c7,c8,c9)
Jelse

—

if(a==3&b==38&n==4)
{
al rep(c(1,0,0),12)
a2 rep(c(0,1,0),12)
a3 rep(c(0,0,1),12)
aa c(al,a2,a3)
bl rep(c(1,0,0)4)
b2_rep(c(0,1,0)4)
b3 rep(c(0,0,1)4)
bb rep(c(bl ,02,03),3)
cl rep(c(1,0,0,0,0,0,0,0,0)4)
c2_rep(c(0,1,0,0,0,0,0,0,0),4)
¢3 rep(c(0,0,1,0,0,0,00,0),4)
¢4 rep(c(0,0,0,1,00,00,0)4)
¢5 rep(c(0,0,0,0,1,0,000)4)
¢6 rep(c(0,0,0,0,0,1,0,00)4)
¢/ rep(c(0,0,0,0,0,0,1,0,0),4)
¢8 rep(c(0,0,0,0,0,00,1,04)
¢9 rep(c(0,0,0,0,0,00,0,1),4)
ab ¢(c1,c2,c3,c4,c5,c6,c7,c8,c9)
Jelse

if(a==4&b==4&n==2)
{
al rep(c(1,0,0,0),9)
a2_rep(c(0,1,0,0),8)



a3 _rep(c(0,0,1,0),8)
a4 _rep(c(0,0,0,1),8)
aa_c(al,a2,a3,ad)
bl rep(c(1,0,0,0),2
. b2_rep(c(0,1,0,0),2
b3 _rep(c(0,0,1,0),2
b4 rep(c(0,0,0,1),2
bb_rep(c(bl,b2,b3,b4),4)
c1_rep(c(1,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0),
¢2_rep(c(0,1,0,0,0,0,0,0,0,0,0,0,0,0,0,0),
¢3_rep(c(0,0,1,0,0,0,0,0,0,0,0,0,0,0,0,0),
¢4 _rep(c(0,0,0,1,0,0,0,0,0,0,0,0,0,0,0,0),
( )
( )
( )
)

Vvv\_/

¢5_rep(c(0,0,0,0,1,0,0,0,0,0,0,0,0,0,0,0),
¢6_rep(c(0,0,0,0,0,1,0,0,0,0,0,0,0,0,0,0),
¢7_rep(c(0,0,0,0,0,0,1,0,0,0,0,0,0,0,0,0),
¢8_rep(c(0,0,0,0,0,0,0,1,0,0,0,0,0,0,0,0),
¢epCeC0.0.0.0.0.00.0.1.00000.00)"
¢10_rep(c(0,0,0,0,0,0,0,0,0,1,0,0,0,0,0,0),
¢11_rep(c(0,0,0,0,0,0,0,0,0,0,1,0,0 0,0,0),
¢12_rep(c(0,0,0,0,0,0,0,0,0,0,0,1,0,0,0,0),
d 3_rep(c(0,0,0,0,0,0,0,0,0,0,00,1 0,0,0),
¢14_rep(c(0,0,0,0,0,0,0,0,00,0,0,0 1,0,0),
(c( )
(

RO PO PO PO PO PO O
_—l — — — ~—  —  — ~— ~—

)
)
)
)
)
¢15_rep(c(0,0,0,0,0,0,0,0,0,0,0,0,0 0,102
¢16_rep(c(0,0,0,0,0,0,0,0,0,0,0,0,0.00,1),2)

ab_c(c1,c2,c3,c4,c5,c6,c7,c8,¢9,¢10,c11,c12,c13,c14,¢15,¢16)
Jelse

PO PO PO PO PO PO O

if(a==4&b==4&n==3)
{

al rep(c(1,0,0,0),
a2_rep(c(0,1,0,0),
a3 _rep(c(0,0,1,0),
a4 _rep(c(0,0,0,),
aa_c(al,a2,a3,a4)
bl rep(c(1,0,0,0),3)

—

2)
2)
2)
)

— =



b2_rep(c(0,1,0,0),3)
b3 _rep(c(0,0,1,0),3)
b4 rep(c(0,0,0,1),3)
bb_rep(c(bl,b2,b3,b4),4)
¢1_rep(c(£,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0),
¢2_rep(c(0,1,0,0,0,0,0,0,0,0,0,0,0,0,0,0),
¢3_rep(c(0,0,1,0,0,0,0,0,0,0,0,0,0,0,0,0),

(

(

(

(

(

(

(
( )3
( )3
( )
cd_rep(c(0,0,0,1,0,0,00,0,0,0,00,0,0,0),
( )
( )
( )
( )
(

3
3
¢5_rep(c(0,0,0,0,1,0,0,0,0,0,0,0,0,0,0,0
¢6_rep(c(0,0,0,0,0,1,0,0,0,0,0,0,0,0,0,0),
¢7_rep(c(0,0,0,0,0,0,1,0,0,0,0,0,0,0,0,0),
¢8_rep(c(0,0,0,0,0,0,0,1,0,0,0,0,0,0,0,0),
¢9_rep(c(0,0,0,0,0,0,0,0,1,0,0,0,0,0,0,0),
¢10_rep(c(0,0,0,0,0,0,0,0,0,1,0,0,0,0,0,0),
c11_rep(c(0,0,0,0,0,0,0,0,0,0,1,0,0,0,0,0),

( )

(c( )
¢12_rep(c(0,0,0,0,0,0,0,0,0,0,0,1,0,0,0,0),
¢13_rep(c(0,0,0,0,0,0,0,0,0,0,0,0,1,0,0,0),
(c( )
(c( )
( )

3
3
3
3
3

c14_rep(c(0,0,0,0,0,0,0,0,0,0,0,0,0,1,0,0),

¢15_rep(c(0,0,0,0,0,0,0,0,0,0,0,0,0,0,1,0),

¢16_rep(c(0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,1),3)

ab_c(cl1,c2,c3,c4,c5,c6,c7,c8,9,c10,c11,c12,c13,c14,c15,c16)
Jelse

)
)
)
)
)
)
)
)
)
3)
3)
3)
3)
3)
3)
3

if(a==4&b==4&n==4)
{
al rep(c(1,0,0,0),
a2_rep(c(0,1,0,0),
a3_rep(c(0,0,1,0),
a4 _rep(c(0,0,0,1),
aa_c(al,a2,a3,a4)
bl rep(c(1,0,0,0)4
b2 _rep(c(0,1,0,0),4
b3 _rep(c(0,0,1,0),4
b4 rep(c(0,001)4
bb_rep(c(bl,b2,b3,b4)4)

6
6
b
6

—_ = =

)
)
)
)

vvvv



cl_rep(o(t, 1,1, 0,00, ,,000, .)4)
¢2_rep(c(0,1,0,0,0,0,0,0,0,0,0,0,0,0,0,0),4)
¢3_rep(c(0.0.1,0,0,0,0,0,0,0,0,0,0,0,0,0),4
¢4 _rep(c(0,0,0,1,0,0,0,0,0,0,0,0,0,0,0,0),4
¢5_rep(c(0,0,0,0,1,0,0,0,0,0,0,0,0,0,0,0),4
¢6_rep(c(0,0,0,0,0,1,0,0,0,0,0,0,0,0,0,0),4
¢7_rep(c(0,0,0,0,0,0,1,0,0,0,0,0,0,0,0,0),4
¢8_rep(c(0,0,0,0,0,0,0,1,0,0,0,0,0,C,0,0),4
¢9_rep(c(0,0,0.0,0,0,0,0,1,0,0,0,0,0,0,0),4
¢10_nep(c(0,0,0,0,0,0,0,0,0,1,0,0,0,0,0,0),4)
c11 rep(c(0,0,0,0,0,0,0,0,0,0,1,0,0,0,0,0),4)
¢12_rep(c(0,0,0,0,0,0,0,0,0,0,0,1,0,0,0,0),4)
¢13_rep(c(0,0,0,0,0,0,0,0,0,0,0,0,1,0,0,0).4)
¢14_rep(c(0,0,0,0,0,0,0,0,0,0,0,0,0,1,0,0),4)
¢15_rep(c(0,0,0,0,0,0,0,0,0,0,0,0.0,0,1,0).4)

¢16_rep(c(0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,1),4)

ab_c(cl,c2,c3,c4,c5,c6,c7,c8,c9,c10,c11,c12,c13,c14,¢15,c16)
Jelse stop (“missing value”)

)
)
)
)
)
)
)
4
4
4
4
4
4
4

z1_matnx(aa,ncol=a,byrow=T)

21t t(z1)

211 71%*%z1t

z2_matrix(bb, ncol=h, byrow=T)

22t t(22)

222 12%*%z2t

z3_matnx(ab,ncol=a*b,byrow=T)

23t t(23)

233 23%*%z3t

74 diag(a*h*n)

74t _t(z4)

244 74%*%z4t

for(l in L:loop)

{
data.e_array(morm(a*h*n,0,sqrt(var.e)),dim=c(a,, ))
data.a_array(morm(a,0,sqrt(var.a)),dim=c(a))



data.b_array(morm(b,0,sqrt(var.b)),dim=c(b))

data.ab_array(morm(a*'b,0,sqrt(var.ab)),dim=c(a,b))

y_array(,dim=c(a,b, ))
for(i in 1:a)

{

for(j in 1:b)

{

for(k in 1:)

{

yIiikl_u + data.afi] + data.b[j] + data.ab[ij] + data.e[ijK]

}
.0

for(i in 1:a)

{

for(jin 1: )

{

for(k in 1: )

{

. 8.8+ y[ijk]
}
}
}
. _( . ~2)l(a*b*n)
sep
for(i in 1 a)
{
for(j in 1:b)
{
for(k in 1. )

{

s.e_s.e + (y[i},k])~2
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}
}

sa 0
s.atJD
for(i in 1:a)
{
for(j in 1:h)
{
forkin )

{
s.at_s.at +y[ijK]
}
}

s.a_s.a + (s.atk)
sat 0
}
s.a_(.a)/(b*n)
. 0
s.bt 0
for(j in 1:h)
{

for(i in 1:a)

{

for(kin1: )

{
s.bt s.bt +y[ijK]
}
}

s.b_s.b + (s.bt"2)
s.ot 0
}
s.o_(.b)/(a*n)
s.ab 0
s.abt 0
for(i in 1:a)
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for(j in 1:b)
{
for(k in 1)

{
s.abt_s.abt + y[i,j,K]

}
sab_.ab + (s.abtA?)
sabt 0

}

}
s.ab_(s.ab)/(n)

sst_s.e -

ssa_ .a-8S.S

ssh_b-s.s

ssab_s.ab -s.5 - ssa - ssb

sse_ St-ssa - ssh - ssab

dfa_a-1

df.b_b-1

df.ab_(a-1)*(b-1)

df.e_a*b*(n-1)
msa_round(ssa/df.a,digits=6)
msb_round(ssh/df.b,digits=6)
msah_round(ssab/df.ab,digits=6)
mse_round(sse/df.e,digits=6)
cl.a_found((msa-msab)/(b*n),digits=6)
cl.b_round((msbh-msab)/(a*n),digits=6)
cl.ab_round((msab-mse)/(n),digits=6)
cl.e_mse

if(cl.a < 0) {cl.a_var.a}
if(cl.b < 0) {cL.b_var.b}
if(clab < 0)  {cl.ab_var.ab}
if(cl.e < 0) {cl.e_var.e}
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if(a==2&bh-=2&n~-2)
ifa==2&b==2&n==3)
ifa==2&b==2&n==4)
if(a==3&b==3&n==2)
ifa==3&b==3&n=-3)
if(a==3&b==3&n==4)
if(a==4&b==4&n==2)

148

{yn_c(y[L.L1y[L.2]y[2 10 y[2.2])}else
{yn_c(y[11L].y[L.2].y[2 10,y[2.2])}else
{yn_c(y[L.19,y[1.2]y[210,y[2.2])}else
{yn_c(y[1110 y[1.2JyL13]yC2,1J.yC2.20 yC2.3J.y[3.10,y[3,2,].y[3.3.])} else
{yn_c(y[L111J.y[1,2) y[1,3,].y[2,10y[22 1y [2B] y[311],y[3RJ.yE3.30)> else
(yn_c(y[11].y[1.20.yCL.3J.yC2, 1] y[22 1 HC2B,] y[311],yC3.20.yC3.30)} else

{yn_c(y[1111,y[1,2,].y[L,3.].y[1.4.],y[2,10,yC2.20.yC2.3).yC2,4.yC3.10.y[3,20fy[3B Yt3 4 1))}

else
if(a==4&h==4&n==3)

{yn_c(y[119y[1.2]y[L3]ytL 4] yt2uTy[2.2.]y[2.30ly[2.4.] y[3.1]y[3.2]y[3.3 ] y[3.4])}

else
if(a==4&h==4&n==4)

{yn_c(ytLL]y[L.2Ny[1.3]y[L4]y[21}y[2.20y[2.3]y[24]yC3 1] y[3.2]y[3.3]y[3.4])}
else stopC'missing value")

yy_matrix(y.ncol=1 oyrow=T)

yb_mean(y)

ybar_matrix(rep(yb,a*o*n),ncol= Loy row=T)

yu_yy-yhar

maxi_300
eps_0.000001
iter 0

con_F

newsetaj7iatrix(c(cl.a,cl.b,cl.ab,cl.e),ncoM byrow=T)

while(('con)&(iter<maxi))

{

iter_iter+1

seta_newseta
va_newseta[1]
vh__newseta[2]



vab__newseta[3]
ve_ ewseta[4]

V_(z11*va)+(z22*vh)+(z33*vab)+(z44*ve)
vin_ginverse(v)

vzl v %*%zll

Vz22 v %*%z22

vz33 v %*%z33

vzdd v %*%z44

trvzl 1_sum(diag(vz11))
trvz22_sum(diag(vz22))
trvz33_sum(diag(vz33))
trvz44_sum(diag(vz44))

((t(yu)%*%vz11%*%Vin%*%yu)/2)-(trvz11/2)
(t(yu)%*%vz22%*%vin%*%yu)/2)-(trvz22/2)
t(yu)%*%vz33%*%vin%*Y%yu)/2)-(trvz33(2)
4 ((t(yu)%*%vz44%*%vin%*%yu)/2)-(trvz44/2)

u
2
3

l\)l\.)

AA VZ 11%*%vz11

BB vz22%*%vz22

ABAB vz33%*%vz33
EE vz44%*%vz44

AABB _vz11%*%vz22
AAAB vz11%*%vz33
AAEE vz11%*%vz44
BBAB vz22%*%vz33
BBEE vz22%*%vz44
ABEE vz33%*%vz44

trAA_sum(diag(AA))
trBB_sum(diag(BB))
trABAB_sum(diag(ABAB))
trEE_sum(diag(EE))



trAABB_sum(diag(AABB))
trAAAB_sum(diag(AAAB))
trAAEE_sum(diag(AAEE))
trBBAB_sum(diag(BBAB))
trBBEE_sum(diag(BBEE))
trABEE_sum(diag(ABEE))

I 1 (trAA2)-(t(yu)%*%AAY%*%vin%*%yu)
h12_(trAABB/2)-(t(yu)%*%AABBY%" Yovin%*Yoyu)
h13 (trAAABI2)-(t(yu)%*%AAABYE*%vin%*%oyu)
h14 (trAAEE/2)-(t(yu)%6*%AAEEY*%vin%*Yoyu)
h22_(trBBI2)-(t(yu)%*%BBY%*%vin%*%byu)
h23_(trBBAB/2)-(t(yu)%*%BBABY%*%vin%*%eyu)
h24_(trBBEE/2)-(t(yu)%*%BBEEY%*%vin%*%yu)

33 (trABAB2)-(t(yu)%*%ABABY%*%%vin%e*%yu)
h34_(trABEE/2)-{t(yu)%*%ABEEYG*%vin%*%byu)
hd4. (trEE/2)-(t(yu)%*%EEY%*%vin%*Yoyu)

uu_matrix(c(u112, 3, 4),ncol="1hyrow=T)
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hh_mainx(c(h11Ih12,h13,h14,h12,h22,n23,h24,n131h23,n33,h34,h14,h24 h34,b44) ncol=4 byrow

M)

hin_ginverse(hh)
newseta_seta-hin%*%uu
con_all(abs(newseta-seta)<eps)

if(newseta[1]<0) {newseta[1] 0}
if(newseta[2]<0)  {newseta[2] 0}
if(newseta[3]<0)  {newseta[3] 0}
if(newseta[4]<0)  {newseta[4] 0}
}
cat("™ ")

for(z in L:trial)



data.em_array(morm(a*b*n,0,sqrt(newseta[4])),dim=c(3,b, ))
data.am_array(morm(a,0,sqrt(newseta[1])),dim=c(a))
data.bm_arTay(morm(b,0,sqrt(newseta[2])),dim=c(b))
data.abm_array(morm(a*b,0,sqrt(newseta[3])),dim=c(a,h))

for(i in L:a)
{
for(j in L:h)
{
forkin L )

{

y2.mon[i,j,k]_u + data.amp] + data.omp] + data.abm[i,j] + data.em[i,j k]

}

y.mon_matrix(y2.mon,ncol=1,byrow=T)
yb.mon_mean(y.mon)

ybar. mon_matrix(rep(yb. mon,a*b*n), ncoh=1,byrow=T)
yu.mon_y.mon-ybar.mon

maxi.mon_300
eps.mon_0.000001
iter.mon 0
con.mon_F

newseta.mon_matrix(c(cl.a,cl.b,cl.ab,d.e),ncol=1,byrow=T)
while(('con.mon)&(iter.mon<maxi.mon))
{

iter, monjter. mon+1

seta. mon_newseta. mon

va.mon_newseta.mon[1]

vh.mon_newseta. mon[2]

vab.mon_newseta.mon([3]

ve.mon_newseta. mon([4]
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v.mon_(z11*va.mon)+(z22*vb.mon)+(z33*vah.mon)+(z44*ve.mon)
vin.mon_ginverse(v.mon)

vz11,mon_vin.mon%*%z11

vz22.mon_vin.mon%*%z22

vz33.mon vi .mon%+*%z33

vz44.mon vin.mon%*%z44

trvzl Lmon_sum(diag(vz11 mon))
trvz22.mon_sum(diag(vz22.mon))
trvz33.mon_sum(diag(vz33.mon))
trvz44.mon_sum(diag(vz44.mon))
ul.mon_((t(yu.mon)%*%vz1L.mon%*%vin.mon%*%yu.mon)/2)-(trvzL1.mon/2)
2.mon_((t(yu.mon)%*%vz22.mon%*%vin.mon%*%yu.mon)/2Htn/z22.mon/2)
.mon_((t(yu. mon)%*%vz33. - on%*%vin. mon%6*%6yu. mon)/2)-(trvz33. mon/2)
ud.mon_((t(yu.mon)%*%ovz44.mon%*Qovin.mon%*Y%yu.mon)/2Mtrvz44.mon/2)

AA.mon vz11,mon%*%vz11.mon

BB.mon vz22. mon%*%vz22. mon

ABAB.mon_vz33. mon%*%vz33. mon
EE on vz44. on%*%vz44. mon

AABB.mon_vz11.mon%*%vz22.mon
AAAB.mon vz11.mon%*%vz33.mon
AAEE.mon vz11.mon%*%vz44. mon
BBAB.mon_vz22.mon%*%vz33.mon
BBEE. mon_vz22. mon%*Y%vz44. mon
ABEE mon_vz33, mon%*%ovz44. mon

trAA.mon_sumydiag(AA.mon))
trBB.mon_sum(diag(BB.mon))
trABAB.mon_sumydiag(ABAB.man))
trEE.mon_sum(diag(EE.man))
IrAABB.mon_sum(diag(AABB.mon))



trAAAB.mon_sum(diag(AAAB.mon))
trAAEE.mon_sum(diag(AAEE.mon))
trBBAB.mon_sum(diag(BBAB.mon))
trBBEE.mon_sum(diag(BBEE.man))
trABEE.mon_sum(diag(ABEE.mon))

hi Lmon_(trAA.mon/2)-(t(yu.mon)%*9%6AA.mon%*%vin.rr*on%*%eyu.mon)
h12.mon_(trAABB.mon/2)-(t(yu. mon)%*%6AABB mon%*%vi .mon%*%eyu. mon)
h13.mon_(trAAAB.mon/2)-(t(yu.mon)%*%AAAB.mon%*Yovin.mon%*%eyu.mon)
h14.mon_(trAAEE.mon/2)-(t(yu.mon)%*%AAEE. mon%*%vin.mon%*%6yu.mon)
22.mon_(trBB.mon/2)-(t(yu.mon)%*%BB.mon%*Yovin.mon%*%yu.mon)
h23.mon_(trBBAB.mon/2)-(t(yu.mon)%*%BBAB.mon%*%evin.mon%*%eyu.mon)
h24.mon_(trBBEE.mon/2Mt(yu.mon)%*%BBEE.mon%*%evm.mon%*%yu.mon)
h33.mon_(trABAB.mon/2)-(t(yu.mon)%*%ABAB.mon%*%evin.mon%*%yu.mon)
h34.mon_(trABEE.mon/2)-(t(yu.mon)%*%ABEE.mon%*%vin.mon%*%6yu.mon)
h44.mon_(trEE.mon/2)-(t(yu.mon)%*%EE. mon%*%vin.mon%*%6yu.mon)

.mon_matrix(c(uLmon, 2.mon, 3mon, 4.mon),ncoM Lyrow=T)
hh.mon_matnx(c(h11.mon,h12.mon,h13.mon,h14.mon,h12.mon,h22.mon,h23.mon,h24.mon,h13.
mon,h23.mon,h33.mon,h34.mon,h14.mon,h24.mon,h34.mon,h44.mon),ncol=4,byrow=T)

hin.mon_ginverse(hh.mon)
newseta.mon_seta.mon-hin.mon%*%uu.mon
con.mon_all(abs(newseta. mon-seta.mon)<eps.mon)

if(newseta. mon[1]<0)  {newsetamon[1] 0}
if(newseta.mon[2]<0)  {newseta.mon[2L0}
if(newseta. mon[3]<0)  {newseta.mon[3] 0}
if(newseta. mon[4]<0)  {newseta. mon[4] 0)

nc_arTay(newseta.mon,dim=c(4,1))

snewseta.monf,,z]_array(nc)

)r_matrix(c(trAA.mon/2,trAABB.mon/2,trAAAB. mon/2,trAAEE. mon/2,
trAABB.mon/2,trBB.mon/2,trBBAB.mon/2,trBBEE.mon/2,
rAAAB. 0 2,'BBAB. 0 2,trABAB.mon/2,trABEE.mon/2,
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trAAEE. mon/2 trBBEE.mon/2,trABEE.mon/2,trEE.mon/2),ncol=4,byrow=T)
trc_solve(tr)
tr.mon[,,2]_array(trc)
}
s1_sum(snewseta.mon[L,,])/trial)
2 (( ewsetamon[2,])itrial)
3 (( ewsetamon[3,])trial)
4 _sum((snewseta.mon[4,,])/trial)
il (trmon[LLY))Ana!
tr22 ( (trmon[2.2)))ftrial
tr33 ( m(tr.mon[3,3]))/trial
trd4_(sum(tr.mon[4,4,]))trial
tr12 ( (trmon[1,2)))ftrial
tri3 (- m(trmon[1,3]))trial
trid ( (trmon[14,]))triat
tr23 ( (trmon[2,3]))/tnal
tr24_(sum(tr.mon[2,4,]))/trial
tr3d ( (trmon[34,]))rial

cc.me_C(trd,tri2,tr13,trl4 tr12 tr22 tr23 tr24 tr13,tr23,tr33 tr34 tr14 tr24 tr34 trdd)
c0.mc_matrix(cc. me, ncol=4,byrow=T)
nv.mc_matrix(c(s1,52,53,54),ncol=1,oyrow=T)
vr.mc_matrix(c(var.a,var.b,var.ab,var.e),ncol=4,byrow=T)

md.  ¢[l]_sqrt(mahalanobis(vr. me, nv. me, QQme))

cc.ml_matrix(c(trAA/2 trAABB/2,trAAAB/2 trAAEE/2,
trAABBJ2,trBB/2, trBBABI2, trBBEE/2,
frAAABI2,irBBAB2,irABABI2,trABEE/?,
trAAEE/2 trBBEE/2 trABEE/2,trEE/2),ncol=4,byrow=Ti
co.ml_solve(cc.ml)
nv. ml_matrix(newseta, ncol=1yrow=T)
vr.mLmatrix(c(var.a,var.,var.ab,var.e),ncol=4,oyrow=T)
md.mI[l]_sqrt(mahalanobis(vr.ml,nv.ml,co.ml))
cat("loop "))



}

amd.ml_(sum(md.ml))/loop
amd.me_(sum(i7id.mc))/loop
amd.ml

amd.mc
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